€6L'VL S06°¢6T 9/'7€8°€6¢ £TT’86¢C 1) 8 12 0L L wozel
000°s 08¢ - - T [4 0 0 eyiuoJpR9
. P . 9MOSO| *pz
€661 60v S 8€C/LSLT [P8'S [4 14 9 c auul | usibo
WA m
€66'61 689 S 8€'067'8C vey'LT € 9 8 b amoxyelew
Apoyjzs
' MNN Z
0 0 v/'¥98 0 0 0 v 0 a1UaZ50}67
0 1048 81'966'C 0 0 [4 € T DV 21udzsotbz
008'vS STS'6/LT 9v'189°19¢ €08°04¢ L 9 SS /9 D0 dluazsotbz
‘WA m
. . 1, A . mopzefod
008'vS 91¢'88T ¥9°£L97¥9¢C €08°04¢ L 8 89 89 “unwioy afzijoy
0T0C XI op 0T00¢ XI op 800¢ 600¢ 0T0C XI op
auodeydAMalU | BIUBMOPOXZSPO | BIUBMOPOMZSPO | BIUBMOPOXZSPO | auoderdAmalu 010¢ XI 800¢ 600¢
op auodeydAm | ydAuozsobz yoAuozsoybz poyjzs [ezpou
| 9U0zsotbz obauooeidAm obauooeidAm obauooeidAm auozsobz A Z
poXzs poXzs 2s0|1 poXzs 2s0|1
Apoyjzs JS0X0SAM JS0X0SAM JS0X0SAM Apoyjzs 7 77 7 77

0TO0Z XI -I Zel0 6002 ‘800T 04 BZ I2SOMOPO)ZS 0LZzDA10p SIUSIMER]SDZ




